UTTAM SCHOOL FOR GIRLS
Grade 111

Block-12

1. Using the grid below, draw an area model to help you 12 X 6.

Answer:

2. Rehana cycles 18 Km everyday for a week. How many Kilometers does she cycle altogether?
First estimate and complete the box model to solve the problem.

Answer:

3. Rohan has 6 packets and Mitali has 8 packets of erasers. There are 5 erasers in each packet. How
many erasers do they have altogether?( Solve using box model)

4. First estimate and then draw the area models to 19 X 7.




